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GEMERATOR

GCSES

1) Round 9.801206 to the nearest 100 2) Find perimeter of 3) 29.2x 26.4
triangle
¢ a=1329ft,b=23005
ft
a c = 3280ft
Answer: Answer: Answer:
4) Share 68 in theratio 45:23 5) 1216 + 16 6) Share 76 in theratio 1:37
Answer: Answer: Answer:

7)  Increase 402 by 57% 8) Simplify 12:21 9) Convert the following improper
fraction 1013/, + 214/, . into amixed
number

Answer: Answer: Answer:
10) 1522.6+8059.8 11) / 12) 840 + 24
'Name the type of angle.
Answer: Answer: Answer:
13) Find perimeter of 14) A number is chosen at random from 15) Find area of
triangle 1 to 75. Find the probability of triangle
b ¢ a=8029m,b= selecting multiples of 19. b b a=8293cm, b=
9968 m, 9736 cm
2 € =9990m 3
Answer: Answer: Answer:
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16) Find area of
triangle
a=8617in,b=
9622 in

Answer:

17) b

a o c
Measure angle boc

Answer:

18) 689/, +3910 )

Answer:

19) 03:09 am To 01:23 pm

20) A number is chosen at random from
1to 75. Find the probability of
selecting number less than 18.

21) 1520+ 19

Answer:

a andb=2532m

Answer:

Answer: Answer: Answer:
22) Find area of square 23) 02:19 am To 10:29 am 24) Find thevalue of 'j' by completing the
having each side (s) square of the following equation: 2 +
s equals 6855 cm 12j + 20
S
Answer: Answer: Answer:
25)  Increase 343 by 76% 26) Find perimeter of 27)  Increase 450 by 17%
b rectangle having
sidesa=9329 m

Answer:

28) Findthevalue of 's by completing

2+8s+15

Answer:

the square of the following equation:

29) 8076 - 1925

Answer:

30) Find the median of the following set of data:
35, 31, 27,6, 20, 23,7, 6, 31, 27,
13,14,13,33,8,27,13,33,21, 34

Answer:
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Answer:

Measure angle boa

Answer:

31) 3483+ 81 32) 3771 17 X 256/7 33) Convert the following improper
fraction 18, + 328/, into amixed
number

Answer: Answer: Answer:

34) Convert the following improper 35)  Findthemode of the following set of datar 36) Find area of square
fraction 225/, + 1%, into amixed 4,4, 4, 4,154, 154, 154, 154, 154, having each side (s)
number 44, 44, 44, 44, 44, 44, 99, 99, 99, 99 s equals 8040 m

s
Answer: Answer: Answer:
37) Simplify 67:39 38) Find perimeter of 39) (-37) x (-74)
b rectangle having
sidesa=9739m
a and b = 8366 m
Answer: Answer: Answer:
40) 7960 - 1561 41) 9383 - 6186 42) 6900 + 100
Answer: Answer: Answer:
44) b 45) A number was shared in the ratio
Find VVolume of 42:34. The larger share was 84.
Square Pyramid What was the smaller amount?
a o} c

Answer:
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46) 47) Round 6.896695523 to 3 decimal 48) 346/9 + 311/2
Find Volume of places.
Hexagonal Pyramid
/39
Answer: Answer: Answer:
49) Anamount was increased by 3.3% to 50) 2400 + 100 51) 04:06 am To 02:13 pm
$351.00. Find the original amount.
Answer: Answer: Answer:

52) 11+14x(1- 92) 53) Increase 282.3 by 83% 54) Find the value of 'd' by completing
the square of the following equation:
2+6d+9

Answer: Answer: Answer:
55) Findthevaueof 'j' by completing the 56) Solve1d?-20d+13=0 57) Find perimeter of
square of the following equation: 2 + Round your solutionsto 1 decimal . . triangle s= 4193 cm
6 +8 place.
5
Answer: Answer: Answer:
58) Round 1.420720265263589 to 2 59) Find perimeter of 60) Find area of
decimal places. triangle . . triangle s = 4523 m
b b a=9583ft,b=
9646 ft <
a
Answer: Answer: Answer:
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Answer:

61) Find area of 62) Find area of triangle || 63) (fo)4
. triangles= 4523 m a p h=2981m,a=
9178 m,
s c b=9609m, c=
9937 m
Answer: Answer: Answer:
64) 2115181 65) Increase 462 by 32% 66) b
a 0 c
Measure angle boc
Answer: Answer: Answer:
67) 6365 +~ 95 68) Find area of square 69) Find the mode of the following set of data:
having each side (s) 58, 58, 58, 58, 26, 26, 133, 133,
s equals4479in 133, 188, 188, 165, 165, 165, 165
s
Answer: Answer: Answer:
70) A number was shared in the ratio 71)  3BYgx 178 720 35Ygx 178
6:20. The smaller share was 69.
What was the total amount shared?
Answer: Answer: Answer:
73) Find the mean of the following set of data: 74) 26/13 X 38/4 75) Find area of
0.6,04,0.9,08,04 . . triangle s= 4152 ft
s
Answer: Answer:
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76) 21, -24 77) Decrease 104 by Y/, 5 78) Find perimeter of
b rectangle having
sidesa= 4068 cm
a and b =2491 cm
Answer: Answer: Answer:
79)  Findthemean of thefollowing st of data 80) Convert the following improper 81) Simplify 22:66
0.1,81 fraction 144, 5 + 319/, into amixed
number
Answer: Answer: Answer:
82)  Findthemean of thefollowing set of dta 83) 52312+ 2912 84) Find area of triangle
92,0.6,05,04,1 a=8479ft,b=
b ¢ 8763ft
a
Answer: Answer: Answer:

85) Round 17.48488481 to 5 decimal
places.

Answer:

86) 4236 x 5088

Answer:

87) 41382.6+ 826

Answer:

88)  640.9+ 377

Answer:

89) Round 24.45813 to 1 significant
figures.

Answer:

90)
Find Volume of
Hexagonal Pyramid
/30

Answer:
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91) A number is chosen at random from 92) 37%%,4x 3%, 93)  03:05amTo 10:49 am
1 to 75. Find the probability of
selecting multiples of 19.
Answer: Answer: Answer:
94) Round 26.51875595 to the nearest 10 95)  Round 26.450 to the nearest 1000 96) Find area of square
having each side (s)
s equals 2378 cm
s
Answer: Answer: Answer:
97) 17.1x 36.8 98) 3817 +235.4 99) Anamount was increased by 2% to
$104.00. Find the origina amount.
Answer: Answer: Answer:

100) A number is chosen at random from
1to 75. Find the probability of
selecting odd number.

Answer:

Total: /100
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1)958
8)4:7
15) 29779950.175018cm

22) 46991025cm

29) 6151
36) 64641600m
43) 17797

50) 24

57) 12579cm
64) 81/95

71) 629°/g,

78) 13118cm
85) 17.48488
92) 14736/
99) $101.96

2) 7614ft
178
9) 13178/,

16) 32152357.486653in
23) 08 Hours 10 Mins

30) 20

37)67:39

44) 135

51) 10 Hours 07 Mins
58) 1.42

65) 609.84

72) 6295,

79) 40.55

86) 21552768

93) 07 Hours 44 Mins
100) 375
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3) 770.88
10) 9582.4
17) 142

24) (j + 6)2
-16

31) 43
38) 36210m
45) 68

52)

59) 28875ft
66) 29

73) 0.62
80) 18Y,,
87) 50.1
94) 26.5

MATHS WORKSHEET %«'

Answers:

4)1:67

11) Obtuse
1133,

18) le585

25) 603.68

32) 967%% 14

39)

46) 51371.760927089
53) 516.609

60) 8858369.9063284m
67) 67

74) 19

81)1:3

88) 1.7

95) 26.45

GEMERA

5) 76
12) 35
19) 10 Hours 14 Mins

26) 23722m

33) 5112/

40) 6399

47) 6.897

54) (d + 3)2

61) 8858369.9063284m
68) 20061441in

75) 7464751.001241ft
82) 18.9

89) 20

96) 5654884cm

Sr: 17012021-1916

6)2:74

13) 27987m
17,

20) 17/

27) 5265

34) 242/

41) 3197

48) 119 oo

55) (j +3)2- 1

62) 14322214.5m
69) 58

76) 229/

83) 8143.2

90) 27279.80021921
97) 629.28
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Y
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7) 631.14
1

14) Y\

21) 80

28) (s+4)2-1

35) 44

42) 69

49) $339.79
56)d=19.30r 0.7
63) f20

70) 299

77) 9

84) 37150738 5t
1) Yg

98) 4052.4
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